TCD. TCDF.

ELESA JE €& it
T g 2

- FRA  E R B E(PA) B AR B ATf . WA,
REMAAFA,

 RETERE, EXANTE,

- NBR& % i e F % 2 3%,

BT T, e DINE,

- B EE S TR E130°C,

TCDF# , @2mm{l| & 5.7L,

EITEMEN, BNEARGNTENESLTR), IARRENE
HiE, AELLFAEABREEYRER, BENTENERLRESL

£in(23°C), s HmZE, FHAAMGHEETLTENFAT, LR
B %R,

e B AR5 BIMHRE A 2 & |

I B

TCD # TCDF #
\\i_r\
L= =
S h ‘
L
iR R+ pENE | B8
R | ™= d h s L M [Nm]| g s | d h Nam] | g
58551 | TCDAOX1S5|M1Ox15 9 19 16 15 | 4105 4 58651 |[TCDF10x1.5|M10x15 9 19 16 15 2 | 4105 4
58553 | TCDAZX15|M12x15 9 19 16 15 | 6108 4 58653 |TCDFA2x1.5|M12x156 9 19 16 15 2 | 6108 4
58555 | TCDA4x15|M14x15 9 19 16 15 | 6108 5 58655 |TCDF14x1.5|M14x15 9 19 16 156 2 | 6108 7
58857 | TCD.16x1.5| M16x1.5 9 22 16 17 | 8to10 7 58657 |[TCDE16x1.5|M16x15 9 22 16 17 2 | 8to10 7
058559 | TCDABx1.5| M18x1.511 26 18 205 | 8t010 8 58659 | TCDE18x1.5|M18x1.5 11 26 18 205 2 | 8to 10 8
08561 | TCD20x1.5| M20x1.511 26 18 205 | 8t010 8 58661 | TCDF.20x1.5|M20x1.5 11 26 18 205 2 | 8to 10 8
58563 | TCD22x1.5| M22x1.512 32 20 25 |10to12]| 12 58663 |[TCDF22x1.5|M22x1.5 12 32 20 25 2 |10to12| 12
08565 | TCD25x1.5| M25x1.512 32 20 25 |10to12]| 12 58665 |[TCDE25x1.5|M25x1.5 12 32 20 25 2 |10to12| 12
08569 | TCD.26x1.5| M26x1.512 32 20 25 |10t0o12)| 14 58681 |TCDF.26x1.5|M26x1.5 12 32 20 25 2 |10to12| 14
58567 | TCD.35x1.5| M35x1.513 38 22 31 |15to18]| 15 58667 |TCDF.35x1.5|M35x1.5 13 38 22 31 2 |15to18| 15
58571 | TCD40x1.5| M40x1.514 46 24 38 |15t018| 20 58683 | TCDF40x1.5|M40x1.5 14 46 24 38 2 |15t018| 20
58591 | TCD.1/8 G1/8 9 19 16 15 | 4106 4 58669 TCDF.1/8 G1/8 9 19 16 16 2 | 4106 4
58601 | TCD.1/4 G14 9 19 16 15 | 4106 2 58671| TCDF.1/4 G174 9 19 16 15 2 | 4t06 4
58611 | TCD.3/8 G38 9 22 16 17 |8to10 5 58673| TCDF.3/8 G38 9 22 16 17 2 |8t010 S
28621 | TCDA/2 G12 11 26 18 205 |8to10 8 58675 TCDF.1/2 G12 11 26 18 205 2 |8t010 8
58631 | TCD.3/4 G34 12 32 20 25 |10to12| 14 58677| TCDF.3/4 G34 12 32 20 256 2 |10to12 14
58641 | TCD.1 G1 13 38 22 31 |12t015| 18 58679 TCDF.1 G1 13 38 22 31 2 |12t0o15| 18
58643 | TCD.11, G1y, 14 46 24 38 |15t018 20 58685 TCDF.11J'4 G11/4 14 46 24 38 2 |15t018 20
58645 | TCD.11, G114 156 55 26 46 |151018 24 538687 TCDF.11J'2 G11/2 15 55 26 46 2 |15t018 24

“‘ELESA” and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

‘elesa-BANTIR )

Accessories for hydraulic systems ﬂh



